
1. Miss Mahmood has some fruit: 
 
 

 
 
 

 

 
Complete the sentences: 
 

There are 2 apples and 8 strawberries. 
There are 4 times strawberries there are as apples. 

 
2. Miss Ellison-Smith has some fruit: 

 
 
 
 

Complete the sentences:  
 

There are 3 apples and 6 strawberries. 
There are 2 times strawberries there are as apples. 

 

3. Match the statements to the bar models and write the last statement in your book. 
 
 

 
 

4. Complete the sentences:  

 

 

There are 5 times 

as many boys as 

girls. 

9 

9 

9 

9 



 

 

 

Use the clues to work which child uses each scale.  

 

 

30g 60g 270g 180g 120g 


